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 𝐶𝐻3𝐶𝑂𝑂𝐻𝐶2𝐻5𝑂𝐻 1.40𝑚𝑜𝑙1.40𝑚𝑜𝑙𝜃1 = 190℃ 𝑡 = 0𝑡 = 60𝑚𝑖𝑛

 

 𝑛𝑒𝑠𝑡𝑒𝑟 = 𝑓(𝑡)
 

 

 𝑛𝑒𝑠𝑡𝑒𝑟 = 𝑔(𝑡)𝜃2 = 100℃
3
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 n f t 
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  f

420360300240180120600𝑡(𝑚𝑖𝑛) 0.460.460.470.480.520.590.81.40𝑛𝑎𝑐𝑖𝑑𝑒(𝑚𝑜𝑙)𝑛𝑒𝑠𝑡𝑒𝑟(𝑚𝑜𝑙)

76543210𝑡(ℎ) 0.330.330.340.350.90.450.611.00𝑛(𝑚𝑜𝑙)𝑛℩(𝑚𝑜𝑙)
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4.5𝑚𝑚𝑜𝑙10𝑚𝐿40℃10𝑚𝑖𝑛 𝐴 𝐶𝑏 = 0.5 𝑚𝑜𝑙 𝑙⁄𝑉𝐸
80706050403020100𝑡(𝑚𝑖𝑛) 7.87.87.67.06.153.72.10𝑉𝐸(𝑚𝑙)

 

 

 

 𝑛𝐴𝑉𝐸
 𝑥 80706050403020100𝑡(𝑚𝑖𝑛)𝑥(𝑚𝑚𝑜𝑙)

 𝑥 = 𝑓(𝑡) 𝑟
 𝑥 = 𝑓(𝑡)60℃
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CH COOH

2 5
C H OH𝐶𝐻3𝐶𝑂𝑂𝐻(𝑙) +  𝐶2𝐻5𝑂𝐻(𝑙) = 𝐶𝐻3𝐶𝑂𝑂𝐶2𝐻5(𝑙) + 𝐻2𝑂(𝑙)
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60484032201612840𝑡(ℎ) 66666674104118132148168200𝑛℩𝑏𝑒(𝑚𝐿)𝑥(𝑚𝑜𝑙)
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100℃
 

 

 𝑛𝐸𝑛𝐸 = 𝑓(𝑡) 
 

 
 t1 = 20mint2 = 40min t3 = 60min
 

 

65% 𝐶𝐻3 − 𝐶𝑂𝑂 − 𝐶𝐻2 − 𝐶6𝐻5 𝐶𝐻3𝐶𝑂𝑂𝐻𝑚 = 24𝑔𝑉 = 41.6𝑚𝐿
ρ = 1.039𝑔/𝑚𝐿𝑀 = 108𝑔/𝑚𝑜𝑙

 

 

 

 

 

 

 

 

 𝐶𝐻3𝐶𝑂𝐶𝑙
𝐴𝐶3𝐻7𝑂𝐻𝑡 = 0 𝐴𝐶𝐻3𝐶𝑂𝑂𝐻 𝑉(𝑁𝑎+ + 𝑂𝐻−) 𝐶𝑏 = 1𝑚𝑜𝑙/𝐿𝑉𝑏𝑒𝑉′𝑏𝑒 𝑉′𝑏𝑒 = 𝑓(𝑡)
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𝐾
 𝐴
 0.02𝑚𝑜𝑙0.08𝑚𝑜𝑙

 

 

0.2𝑚𝑜𝑙𝐶2𝐻5𝑂𝐻0.2𝑚𝑜𝑙 𝐶𝐻3𝐶𝑂𝑂𝐻
 

 

 𝐾 = 4
 

 
 

 

 
 0.2𝑚𝑜𝑙

(𝑆)2𝑚𝑜𝑙 𝐶𝐻3𝐶𝑂𝑂𝐶3𝐻72𝑚𝑜𝐿
40℃10𝑚𝑖𝑛 𝐴𝑉𝐸



6 

 

 

 

 

 𝜏𝑓
𝐾

 (𝑆)0.5𝑚𝑜𝑙
 

𝑡 = 0𝑛0 = 0.4𝑚𝑜𝑙𝐶2𝐻5𝑂𝐻𝑚0 = 38.4𝑔 𝐶𝑛𝐻2𝑛+1𝐶𝑂𝑂𝐻60℃
 

 

 𝑛𝐸 = 𝑓(𝑡) 
 

 𝐾 = 4

 t = 120min 𝑀(𝐻) = 1 𝑔 𝑚𝑜𝑙⁄𝑀(𝑂) = 16 𝑔 𝑚𝑜𝑙⁄𝑀(𝐶) = 12 𝑔 𝑚𝑜𝑙⁄
 𝑡 = 0𝑛1 𝐶𝐻3𝐶𝑂𝑂𝐻𝑛2𝐶3𝐻7𝑂𝐻

(1)(2)
 (1)𝑥
 (2)𝑥
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 𝜏𝑓
 𝐾
 

 𝑝𝐻𝑛 (𝑁𝑎+ + 𝑂𝐻−)𝐶 = 0.5𝑚𝑜𝑙/𝐿 𝑉 = 10𝑚𝐿𝑝𝐻4,8 𝜃 = 25°𝐾𝑒 = 10−14(𝐶𝐻3𝐶𝑂𝑂𝐻/𝐶𝐻3𝐶𝑂𝑂−)𝑝𝐾𝑎 = 4,8
𝑛𝐾𝐾𝑎𝐾𝑒 𝐾

 0.1𝑚𝑜𝑙𝐶4𝐻9𝑂𝐻0.1𝑚𝑜𝑙𝐶𝐻3𝐶𝑂𝑂𝐻
𝑐 = 2 𝑚𝑜𝑙 𝑙⁄𝑉𝐸 = 16.5𝑚𝑙

 

 0.1𝑚𝑜𝑙0.1𝑚𝑜𝑙
13.1𝑚𝑙

 

ρ𝐸 = 0.88 𝑔 𝑐𝑚3⁄   𝐻 = 1 𝑔 𝑚𝑜𝑙⁄   .   𝐶 = 12 𝑔 𝑚𝑜𝑙⁄   .   𝑂 = 16 𝑔 𝑚𝑜𝑙⁄


